H & 0l & AHS B Ml A

20238 =& 13 &4+EEE3H &
S2A: MOt AIE A
BN NBSE U 2hAlgwel
SR AT ZIE|(AFEZEEF) (CH9: /M)
M- SA(3) - MRAY - BES Ofl &kl I & A Hlns
ASt= T AN A 4,872,034 2,800,000 2,072,034
Aot & ERAlAZ2e] 4,872,034 2,800,000 2,072,034
AT Z2(MESEHSH) 4,872,034 2,800,000 2,072,034
AT A2 22| 2,296,301 1,376,737 919,564
101 2124l 127,329 A,549 32,780
M IIZINZ22 NS Es 127,329 HA,549 32,780
O&lot=% Ald2te| elAt|
76,9603 x30 ! 9 H 20,780 0 20,780
O4ote=THER HRFE 2|
20,0002 +8F * 152 12 28,800 16,800 12,000
201 LB-2AY| 258,406 242 122 16,284
02 SE==294| 205,964 189,680 16,284
02322 % HAl 196,284 180,000 16,284
AR AE JI| Y SRS
16,357,000& x 12& 196,284 180,000 16,284
206 =8l 110,066 100,066 10,000
01 =Yl 110,066 100,066 10,000
Od=E2 IIE tld=+I
1,000,000 *30& 30,000 20,000 10,000
307 212+01™ 800,000 400,000 400,000
05 QIZIRIErZ 800,000 400,000 400,000
OZ+SAI(S+3SAHU )
1,250,000 *64021 800,000 400,000 400,000
401 AIEHIL 20| 1,000,000 540,000 460,000
01 AlEHI 1,000,000 540,000 460,000
OFEF+E NE2 =87
40,000,000 *39H 2~ 120,000 80,000 40,000
OXgal=E HEI| Es& &I
28,0003 *5,00004 140,000 70,000 70,000
OFYHIAEX &X
175,000,000 *27H 2~ 350,000 0 350,000
405 KHHESH| 500 0 500
01 ML =SEFHSHI 500 0 500
OF=&Z TV 7 500,000+ 1CH 500 0 500
AT 2 2 A 1,202,980 973,620 229,360
201 B2 AY| 1,083,480 884,120 199,360
02 33=24H| 1,044,476 845,116 199,360
02322 % MAl 1,000,000 800,640 199,360
AN T2 AES(100HSH)
100,000,000& *10%H 1,000,000 800,640 199,360
405 RHaHE=H| 30,000 0 30,000
01 ML =SEFHSHI 30,000 0 30,000
Oaele=E2=2 DXNM Ty 2
26,000,000 1CH 26,000 0 26,000




SN AGHEARA
M Aot & BaAlE2]
CHel: AT 22|(MSTSEIA) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
OZelH PXRHI 2
4,000,000% *1CH 4,000 0 4,000
SHEMESSIHL AR (XEA) 1,150,000 0 1,150,000
401 AIEHIZL 2 OHYI 1,150,000 0 1,150,000
01 Al&HI 1,150,000 0 1,150,000
Os0EMEZIHL AR (XHA)
1,150,000,000& * 14 1,150,000 0 1,150,000
ollg1sl 43,999 270,889 A226,890
801 GilHIHl 43,999 270,889 A226,890
01 BHilbIl 43,99 270,889 N226,890
Ouoliglbl 43,999,000& 43,99 270,889 A226,8%0




